AP Physics – The Wretched Alternate Vector Test 


Name ____________________________________________________________________

1. (20) You walk south for 12.5 km and then west for 8.9 km. What is the magnitude of your resultant displacement?

2. (20) A ball is thrown with an angle of 35.0 ( to the horizon with a speed of 15.0 m/s.  What are its horizontal and vertical components?
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(40) Find the magnitude of the resultant vector.  What is the angle it makes with the x axis?

4. (40) An F-18 flying at 785 km/h in horizontal flight drops a bomb.  If the aircraft is at an altitude of 1550 m, (a)  how much time till the bomb hits the ground?  And (b) how far in the horizontal direction does the bomb travel?

5. (20)  A soccer ball is given a kick – it ends up going at 28.0 m/s at an angle of 35.0( to the horizontal.  Neglecting air friction, what is the horizontal range of the kick?

6. (40) A railroad cannon fires a projectile at the Superchief.  If the cannonball travels a distance of 13 500 m in 55.0 s, what was the projectile’s initial velocity (i.e., speed and angle with the horizontal)?







